
Quiz 9 
 

 
 
1)   Consider the line integral 𝑥" 𝑦 + 1 𝑑𝑥 + 𝑥 𝑦	
  𝑑𝑦( , where 𝐶  consists of the arc of the parabola 𝑦 =

𝑥" from (0,0) to (1,1) and two line segments from (1,1) to (0,1) and from 0,1  to (0,0).  

 

a)   Plot the region 	
  𝐷 bounded by the simple closed curve 𝐶.   

(4 points) 

 

b)   Use part (a) and Green Theorem to evaluate the line integral.  

 

(8 points) 

 

2)   Find the  𝑐𝑢𝑟𝑙  and the divergence of the vector field 𝑭 𝑥, 𝑦 = 	
   𝑒67	
  𝒊 + 𝑥 sin(𝑦) 𝒋   

 

(8 points) 

 

 

 

 
 

  
 

 
  
 

 
  
 
 

 
 

 
 


